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Introduction
The next section of the course consists in establishing methods for evaluating arguments.  The purpose of the evaluation is to distinguish defective arguments from arguments that are sound.  The goal is to become proficient in separating the good arguments from the bad in order to avoid the pitfalls of bad arguments.  This skill will enable persons to formulate strong and correct arguments and to defuse the persuasive power of defective arguments.

Critical thinking texts are not always clear or consistent on what is a fallacious argument.   Some describe fallacious arguments as defective arguments masquerading as good arguments.  Followers of this line will characterize arguments by their structure of reasons and thesis, but find some error in the expression of the reason or weakness in the relationship between reason and thesis.  Consider the following example:

1. I have a weapon

2. I am ready to use it unless you hand over your wallet

3. Therefore, you should hand over your wallet.

As it stands, the structure: P and Q therefore R, is not a valid argument in any system.  But consider the following reformulation:

1. Either you want me to use this weapon on you or you will hand over your wallet

2. You don’t want me to use this weapon on you

3. Therefore you will hand over your wallet

The form here is valid; either P or Q, but not P, therefore Q.  So one approach to restore these examples to the status of a fallacious argument is to resort to finding fault in the content of the premises; in this case labeling the mistake as a fallacious appeal to force (traditional name: argument ad baculum). 

Other authors disagree with this approach:

Note by the way that some of the alleged fallacies that have been discussed in logic textbooks since time immemorial (sic) are not generally fallacious.  Take the fallacy called appeal to force (traditional name: argument ad baculum), committed, it said, when a conclusion is accepted after a threat of force of one kind or another.  Lawmakers, for instance, sometimes are charged with commission of this fallacy when they are convinced to vote a certain way by the implied threats of lobbyists to stop the flow of campaign contributions

But legislators whose arms are twisted in this way generally are not guilty of a fallacy—the arm twisting doesn’t convince them of the merits or demerits of particular legislation, but rather of the personal (career) benefits to be gained by voting as lobbyists “suggest” they should.

I am not clear about the point of the above quote.  What the legislator is guilty of is not voting on the merits of the legislation; whether the argument in its favor is strong or weak.  This is the issue regardless of the “suggestion” of the lobbyist. 

We have defined an argument in a way that excludes examples where there are no reasons being offered.  In cases where there are only threats, there are no reasons.  This seems to me to be the best way to handle the gun case; it is a case of a threat where the substance of the threat is masquerading as a reason.   The mistake of the gunman is not a logical mistake; it is a mistake in human conduct (what we might call a moral mistake).  

But these are different from structure mistakes.  (If P then Q, not P, therefore Q is a structure mistakes).  Structure mistakes are not the same as moral mistakes.  Structure mistakes are more like fatal errors in a computer program, while moral mistakes are human errors independent of errors in the program produces

The problem with fallacy discussion is that this distinction is not always recognized and moral mistakes are treated as if they are structure mistakes.  Structure mistakes are structural/syntax errors.  These are different from strategic and tactical mistakes as well as bad faith mistakes.  (I use bad faith as in the negotiator who does not intend to relinquish any of his positions prior to bargaining)

Four Criteria

We will propose four criteria for determining a good argument:


(
A strong argument must have acceptable premises (reasons)

(
A strong argument must pass the issue tests



(
A strong argument must have premises (reasons) relevant to the conclusion.


(
A strong argument must have premises(reasons) that adequately support the conclusion

These criteria, when not satisfied, become tests for arguments that are defective, and form the basis for determining the category of the fallacy--they provide the basis for grouping the various names of fallacies found in some logic texts. 

The application of these criteria to actual arguments requires more than sticking on labels.  It requires careful reading, interpretation, analysis and understanding of the argument.  It requires judgment in assigning these criteria and requires support in justifying that these criteria apply. 

PRIVATE 
ACCEPTABLE  REASONS (PREMISES)
What makes the reasons acceptable?  There are several factors, and I will take each in its turn. The first relates our previous discussion of the assurance, namely the source of where we get the information that serves as reasons. The second relates to the meaning of the terms used to express that information.  Let’s first look at the question of assurance.  Before the Internet, people relied on the print media, the New York Times, The Washington Post, The Sacramento Bee, etc. With the Internet these sources are not on line as well.  However there are a host of other sources that are not as reliable. Some examples follow: Politicalo (almost anything that ends on lo; these sites specialize in taking accurate statements from politicians and then adding false quotes to them that are much worse than what they actually said). Occupy Democrats, Bipartisan Report, Wining Democrats, PoliticusUSA, Blue Nation Review, and IfYouOnlyNews.
Some of the more traditional sources have also come under attach by members of the Republican Administration.  They include The New York Times, CNN, The Washington Post.  However when questioned about exactly what report was objectionable or incorrect, the accusers were not able to be specific, only citing critical pieces from these sources.  One test on the veracity of the new source is to look for any corrections for possible errors and verifiable reasons to back up any criticism. 
It should also be noted that there has been a long history of tension between news media and members of the administration.  At the same time the importance of a free press is an essential guarantee in the First Amendment. 

The recent criticism of sources has not only extended to media members, but government agencies that are providing non-partisan projections and information.  One example was the recent attack by the administration of projections from the Congressional Budget Office (CBO) when they projected how many would gain coverage under the Affordable Care Act (ACA).  Press Secretary, Spicer said, “They were off by millions.”  Well, they projected 21 millions by 2016.  At the end of the year there were 11.5 million.  
Note the test for reliability—correcting figures. The number of employers dropping coverage was far fewer that the CBO originally projected.  This led the agency to reduce its estimate of 21 million to 13 million.  That may be where Spicer got the “off by millions” but of course, this speaks to a positive number connected the ACA.
The attack on nonpartisan agencies is not new.  Richard Nixon attacked the veracity of figures from the Bureau of Labor Statistics (BLS) the nonpartisan research branch of the Department of Labor. 

We can now turn to the second factor—the meaning of terms in the argument.   Premises are unacceptable if there is an improper (intentional or not) use of key words in the claim.  This criterion is based on the meaning that words have and ways that meaning can be subverted or misused in an argument.  A few words first about meaning:

Words in general but nouns, noun phrases and verbs in particular have both extension and connotation.  “Extension” refers to the objects designated or denoted by the term in question.  The extension of “race horse” for example, includes War Emblem, Monarcos, Count Fleet, Seattle Slew, Affirmed, Smarty Jones, Birdstone, etc.  The connotation indicates the meaning of a term; in the case of “race horse” something like “a horse bred and trained to race, usually a quarter horse or thorough bred.”  Sometimes the connotation of a term will designate criteria that must be met for it to be that kind of thing.  For example, a criterion for a race horse is that has undergone training for racing. 

In evaluating argument, it is important to be able to identify either the extension or the connotation of key terms in the argument, sometimes both.   If there are problems on either of these scores, we will say the argument as failed the criterion of acceptable premises. 

We have seen from the current administration some expression that have questionable extension;  e.g. 4 million votes that were illegal, terrorist attack in Atlanta Georgia

On February 19 at a rally in Florida, President Trump stated that there had been a terrorist attack in Sweden.  He made this claim after watching Fox News.  What Fox News reported was that there was a slight increase in crime in the nation of Sweden,  They also reported that Sweden had accepted 190,000 refugees.  There was no report of any terrorist attack.

In a follow up story on February 21 the New York Times stated that administration officials claimed Trump was referring to a Fox News interview in which a film maker  that she claimed police often cover up on crimes committed by refugees.  On the other hand, statistics released by the Swedish crime council showed no overall increase in crime after the influx of refugees.  The council did not an increase in assaults in the last year but a decrease in thefts and drug offences.  
It is worth noting that Trump based his interpretation on an interview aired on Fox News not on any official intelligence or government issued data.  For all this I think we can say that the reference (extension) of the original statement is at best unclear.

Think of the term, “weapons of mass destruction” (WMD’s) as it was used by the administration preceding the invasion of Iraq.  WMD’s was a term used in the argument to justify the invasion, as was references to meetings between Hussein and leaders of Al Qaeda.  What do we know now about the extension of those terms in that context?

We sometimes accept a claim because it is appealing.  But acceptable in this sense will not be proper as a criterion for a strong argument.  Any answer that showed we accepted a statement because it simply was appealing will not be a proper test for the strength of an argument.  We want to eliminate anything as acceptable simply because it makes us feel good.  

Also, the proposed criterion is "acceptable," not "accepted".  There may be many claims that are, in fact accepted, but should not be, i.e., are not acceptable. 

The proponents for the current tax proposal to a person state it will benefit the middle class.  When you examine the draft it will do anything but. The lower income brackets will get about a 10% benefit by reduction where the upper 1% will bet a 30% benefit in reeducation.  This will include the elimination of the Estate tax, the elimination of the Alternative Tax, and a reduction of the upper level bracket by 20%.  

Earlier Misleading claims about the efforts to repeal the AFA  

1.
A claim is acceptable if the words used in the claim have an explanation, illustration, or use that the hearer of the argument can identify and the maker of the argument can give.

2.
A claim is acceptable if the claim is testable, knowable, verifiable, analyzable, comprehensible, etc.  Any argument that contains premises, not acceptable in this sense, fails to meet the test of a good argument. 

3.
As a general rule, if #1 and 2 are met, an acceptable claim will not contradict claims that are consistent with generally held belief, claims we can verify from immediate personal experience, direct observation, and claims that are consistent with generally held views by reasonable knowledgeable people. 

4.
Claims are acceptable only when the language used to state the claim fall within the broad categories of unprejudiced, unbiased disinterested, (not uninterested) neutral language. All the arguments that fail because of a language problem will fail to meet this first test, and hence will serve to group these fallacies under one heading.

5.
Claims used, as reasons are acceptable only if the words in the claims are used in a way that their meaning is unambiguous, not overly vague, and exceedingly general or used in ways the hearer is not sure how the maker of the argument is using the words. 

6.
Claims are not acceptable if the key words, when repaired by illustration, explanation, and definition renders the thesis unsupported. 

7.
The presenter of the argument has to be in a position to know the claims he or she offers as premises

8.
The claims offered as premises cannot be in need of support when evaluated in relation to the conclusion.  The claims offered as premises should be less questionable than the theses they support.  If we are less sure about then premises in comparison with the conclusion, then there is a question about the acceptability of the premises 

In number 7, we encounter claims that the presenter of the argument offers as known.  In examining these claims, if we can raise objections as to how the presenter could have known these claims, we can judge the argument to have unacceptable premises.  These would include claims that the presenter of the argument could not have known because he or she was not present at the proper time and place, claims about what another person was thinking and their state of mind.  When reasonable evidence of what that state of mind was is missing, we are in a position to judge the argument as containing unacceptable premises.

A special case of this is when the presenter of the argument appeals to "reliable (but unnamed) sources."  Unless there is presented evidence for the reliability of the source, arguments that depend on this maneuver can be criticized as containing unacceptable premises.

Item 7 comes down to the conditions for accepting testimony. Briefly they are as follows:


1.
The presenter of the argument is in a position to know what he or she claims to know (This because he is in the right place at the right time and in the right way)


2.
The claim falls into a broad area of recognized disciplines where there are recognized ways of distinguishing true from false.


3.
The presenter of the claim has training, background experience and education in that field.


4.
The claims made by the presenter are not in complete disagreement with the generally held view in that discipline.

UNACCEPTABLE WORDS



Text books on the subject have a long list of word mistakes. For our purposes I will limit the discussion to two related types—Equivocation, Ambiguity. Both are usually cited under the general heading Vague expressions.

Here are some definitions of each: 
An equivocation trades upon the use of an ambiguous word or phrase in one of its meanings in one of the propositions of an argument but also in another of its meanings in a second proposition.
An ambiguous word, phrase, or sentence is one that has two or more distinct meanings.

The word problem is sometimes followed by silly examples.
An organ is a kind of musical instrument

The human heart is an organ

Therefore:   ????

Equivocation.tc  \l 2 "Equivocation."  

A recent discussion of the work “hike” indicates how the meaning of a word has influence in an argument. The original meaning of “hike” was connected to a current meaning of take a long and sometimes difficult walk.  It now has retained some of the suggestion of that meaning, namely something that is not the normal or natural case of the normal case, a hike is not the normal case of taking a walk.  It has gravitated to the field of economics, as in a wage hike, a hike in the minimum wage, a hike in inflation.  Persons who are more likely to take issue with some of these increases, will be tempted to use the word “hike” rather that “increase”  On the other hand, those who might favor the increase, e.g. in wages, should probably also use the word “increase”  if they want to avoid the suggestion that the increase is not normal or natural.
 
Vagueness
 George Will quotes from a book by John Dilulio Jr. “Bring Back the Bureaucrats.”  The topic is “Big “Government”.  This is a good example of a vague expression on two scores, first the word “Big”  What is the right number of government employees? On the second point, what kind of government, city, county, state, federal, judiciary, executive, legislative staff?  Run these two examples together, and the result is hopeless vagueness.
Dilulio shows that the non-federal government size has dramatically increased.  This includes federal contractors, municipal governments, state agencies, and local employees.  This is the increase quoted favorably by George Will.  On the other hand,  Dilulio’s argues that at the federal level the size has barely increased.  From Will’s argument and the quote for Dilulio’s book:

In 1960, when John Kennedy was elected president, America’s population was 180 million and it had approximately 1.8 million federal bureaucrats (not counting uniformed military personnel and postal workers). Fifty- seven years later, with seven new Cabinet agencies, and myriad new sub-Cabinet agencies (e.g., the Environmental Protection Agency), and a slew of matters on the federal policy agenda that were virtually absent in 1960 (health care insurance, primary and secondary school quality, crime, drug abuse, campaign finance, gun control, occupational safety, etc.), and with a population of 324 million, there are only about 2 million federal bureaucrats.
So, since 1960, federal spending, adjusted for inflation, has quintupled and federal undertakings have multiplied like dandelions, but the federal civilian workforce has expanded only negligibly, to approximately what it was when Dwight Eisenhower was elected in 1952. Does this mean that “big government” is not really big? And that by doing much more with not many more employees, it has accomplished prodigies of per-worker productivity. John J. Dilulio Jr., of the University of Pennsylvania and the Brookings Institution, says: Hardly. As I argue in this book’s concluding chapter, many measures are needed to reform our government improving its performance, then we must start by pruning the stem’s proxies while increasing the federal workforce. To undercut the proxy- bred political pressures behind government’s growth and to bolster government performance (or at least to avert near-term administrative debacles in indisputably understaffed federal agencies), we must indeed “bring back the bureaucrats.” 

This is the part of Dilulio’s argument that Will leaves out.

The use of words can go wrong several ways, but when the individual uses these mistakes in an argument, (intentionally, or ignorantly), then the mistake is in the adequacy of the premises by virtue of mistakes in the concepts

Here is another example from an economist Richard Vedder,   “Why Did 17 Million Students Go to College?” October 20, 2010, 9:53 am

Two sets of information were presented to me in the last 24 hours that have dramatically reinforced my feeling that diminishing returns have set in to investments in higher education, with increasing evidence suggesting that we are in one respect “over investing” in the field. First, following up on information provided by former student Douglas Himes at the Bureau of Labor Statistics (BLS), my sidekick Chris Matgouranis showed me the table reproduced below 

Over 317,000 waiters and waitresses have college degrees (over 8,000 of them have doctoral or professional degrees), along with over 80,000 bartenders, and over 18,000 parking lot attendants. All told, some 17,000,000 Americans with college degrees are doing jobs that the BLS says require less than the skill levels associated with a bachelor’s degree.


So if we take the second paragraph as his support for the thesis in the first paragraph, we should ask about the acceptability in the groups identified in the reasons.  Are for example the waiters and the waitresses full time or part time?  Are they summer jobs taken by teachers or other full time employees on separation from their full time work?  Secondly what is meant by “college degrees”  AA degrees or BA , degrees from non accredited colleges, for profit colleges, degrees from colleges where degrees are granted of on-line courses?   Secondly what is included in “professional degree”.  It is all too vague.  

In another example George Will writes in support of a Colorado law allowing parents to participate in a state funded scholarship program that allows a choice of religious schools.  He states that conservatives are pro choice about most things—owing guns, driving SUV’s using incandescent light bulbs, etc—other than killing pre born babies.  Liberals are pro choice mostly about the latter.
  Using “killing pre born babies” rather than “fetus” or “a woman’s right to choose” Will clearly defines the case in favor of his argument.  The issue is whether a fetus is a baby—whether the fetus has the features found in babies.  

Here is an attempt to redefine “fetus”


1.  The divine Author did not recognize the difference between unborn and unborn baby


2.  Therefore, “unborn” means “unborn baby” in the Bible.

And this justifies our use of “unborn baby” for “fetus.”

Vagueness again
Recent discussion have centered around the word “fact” and its connection to the adjective “alternative.”  In many of its uses the word doubles for “true” as in “it is a fact that…”

The use of  “alternative fact” may have its origin is something said several years ago by Senator Jon Kyl. He gave a speech in which he said, “if you want an abortion you go to Planned Parenthood, and that’s well over 90 percent of what Planned Parenthood does?”

He said this in connection with the Republican effort to cut all federal funding off from Planned Parenthood, which is included in a current version of the Republican effort to repeal the Affordable Care Act. Existing federal legislation does not allow any federal funding for abortions services (The Hyde Amendment) including any that may be performed by Planned Parenthood.  (The Republicans charge that the federal funding that Planned Parenthood gets for other services finds its way over to the abortion side).

The abortions that are performed under Planned Parenthood constitute about 3 percent of all their services.  

When reminded of this, Kyl replied that his statement was not intended to be factual.  This seems to show another use for “fact” or “factual” since I don’t think Kyl wants to say that he did not intend his statement to not be true or that he intended to make a false statement.  

This second meaning of fact is illustrated in a handout I discovered for an English 5 course.  Here is the passage;  “The fact can be proved to be true or false.  Consider the following statement: ‘Ronald Regan’s vice president was Al Gore’  This is a statement of fact.  It just happens to be a false fact”  This suggests that the meaning of “fact “ is for a thing and actual object in the world, a state of affairs that either exists (a true fact) or does not (a false fact)

I still don’t know what to make of  Kyl’s use of  “factual”  or the expression “alternative fact”
5. Vagueness . Terrorism
From Wikipedia
There is no universal agreement on the definition of terrorism. Various legal systems and government agencies use different definitions. Moreover, governments have been reluctant to formulate an agreed upon and legally binding definition. These difficulties arise from the fact that the term is politically and emotionally charged. To avoid this kind of confusion, the most common definition of terrorism is used, which includes the following:

· It is the use of violence or threat of violence in order to purport a political, religious, or ideological change.

· It can only be committed by non-state actors or undercover personnel serving on the behalf of their respective governments.

· It reaches more than the immediate target victims and is also directed at targets consisting of a larger spectrum of society.

· It is both mala prohibita (i.e., crime that is made illegal by legislation) and mala in se (i.e., crime that is inherently immoral or wrong).

Here is a partial list of terrorist originations declared so by the State Department (denotation).

Here is a partial list:

Abu Sayyaf (Philippines)

Ansar al-Islam (Iraq Kurds)

Communist Part of the Philippines

Basque Fatherland and Liberty

Kurdistan Workers Part

Islamic Jihad

Hezbollah

Kahane Chai (Israel)

Palestine Liberation Front

Al-Qaida

United Defense of Columbia

Some are recognizable others not.

From the above denotation we see the following conceptual criteria

· Must be foreign

· The organization engages in terrorist activity as defined in various other laws

· The activity must threaten the security of the U.S. nationals or the national security (defense, relations, and economic interests) of the U.S.

A number of claims made during the debate this summer over the repeal of the Affordable Care Act (Obamacare) can be faulted based on this first criterion

President Trump weighed in on the debate with the following:  In Alaska (premiums) they went up over 200 percent recently.  And in Arizona, they’ve been up 118 percent.  And those states are good compared to some of the numbers coming out.”

The Alaska references comes form a report from Health and Human Services that compared premiums in 2013 and 2017.  The report did not include the subsidies that were received that reduced the out of pocket costs.  The premiums on 2017 covered more extensive coverage and for sicker recipients.  The 2013 included all plans whereas the 2017 included only those plans in the exchange.  So, the items compared where not the same.  
In Arizona the report was for one year 2016 to 2017, but the entire report included the tax credits that were available and that 78 percent could obtain coverage for less that $100.00 a month after subsidies.  

The figures even as Trump stated are unusual and not representative 

Trump also stated that persons with pre-existing conditions will have better coverage under the Republican plan.  What he failed to mention was that the proposed plan consisted of waivers for states to alter coverage which could include much higher premiums for those with pre-existing conditions, so much so that they would not be able to afford coverage.   
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In this section of the hand out, we will discuss the second criterion: 


*
A strong argument must be relevant to the issue.  It must pass the issue test.



We spoke of the issue in relation to the thesis--the issue was a question the thesis directly answered.  Now we are in a position to use this tool to evaluate the entire argument.

The steps are as follows:


1.  Determine the main thesis


2.  Formulate the issue (the question the thesis answers)


3.  Judge the issue on the following grounds:

a.
Are there other theses in the argument (secondary, parallel) that address other issues, i.e., not the one addressed by the main thesis?

b.
Are the reasons in support of the thesis more relevant to another issue, one not the one answered by the thesis?

c.
Has the issue answered by the thesis been previously settled by arguments generally accepted?

d.
Are the reasons not directly relevant to the issue, as the issue is generally understood? 


4.
When there are opposing arguments, evaluate thesis and counter thesis as possibly answering different issues. Then determine which is the more important (which issue is more significant, vital, critical, etc.)?  

For an argument to be strong it must be internally sound and pass the issue tests listed above. 

APPLYING THE ISSUE TESTS

Issue Example:
In 2003, the California legislature passed and the Governor signed a law allowing the issuance of driver’s licenses to undocumented residents.
So, the dispute centered on the issue: Should undocumented residents be allowed to secure a California driver’s license?  This in turn, generated a set of other issues:  Would the issuance of licenses decrease the number of uninsured motorists?  Would the issuance of licenses increase the number of skilled drivers?  Would the issuances of licenses increase the risk of terrorists’ ability to go undetected? Would this be unfair to immigrants who are trying to reside in the U.S. legally?

One needs to decide which of these issues is central, and ensure that the specific arguments are answering across the range of issues. As an exercise I have developed a method to sort out competing issues called the AB Grid.
Try your hand at the following exercise. 

 What follows are two issues regarding the U.S. involvement in the Middle East war   Consider only the question of relevance to the issue, not any other question regarding these arguments.   In the A,B  grid after each argument decide which of the two, A or B, the argument address as the  main issue answered by the conclusion of the argument.  Once you decide which of the two the thesis directly answers, you next must decide HOW the issue is answered.  It can be either “yes" or "no" depending on how the thesis specifically answers that question.  So under your choice for the main issue write either “yes” or “no” depending on how the argument answers that issue. 

Next, in the other part of the grid enter "+", "-", or "?" depending whether the thesis is a positive (yes), negative (no) or undetermined (?) answer to that issue.  Write a brief justification for each answer. 
A.  Should we increase our troop commitment in Syria in an attempt to eliminate the presence of ISIS?
B.  Should we withdraw combat troops from Iraq and redeploy them in Syria?
1.  ISIS poses a threat not only in Syria but in Iraq.  It is in the U.S. interest to neutralize this threat.  So we must increase the troop commitment in both countries. 
	A
	B

	
	


2. The history the civil war in Syria is hopeless.  Further, Russian power may save the day.  So it is a pointless exercise to commit our troops there.  We should finish the job in Iraq

	A
	B

	
	


3. History will show that the most serious military mistake made by the U.S. was the invasion of Iraq.  It was based on a false premise (weapons of mass destruction) and motivated by the hubris of the Bush administration.  We need to withdraw as soon as possible and not make the same mistake in Syria
	A
	B

	
	


4. Iraq is a different country from Syria.  It has a stronger and more educated middle class.  There are growing elements favoring some form of democratic rule.  So we need to keep our troops there for the immediate future.  Let’s add troops to the friendly Syrian forces.
	A
	B

	
	


5. Iraq is a lost cause.  It is torn by ethnic and sectarian difference.  The surge was only a temporary solution.  So let’s get out now.  The evidence for troop commitment in Syria is inconclusive. 

	A
	B

	
	


Here is a second exercise for the second criterion.  Follow the instructions from the above example.

AB Grid for free two year college

A.  Should California adopt a plan for free tuition and the State’s two year college?

B.  Should California adopt a fee structure for the two year colleges that is affordable for all? 


1.  Recent studies show that a significant percentage of students in two year colleges are either in danger of being homeless or are facing serious food challenges.  Add to this the cost of tuition, books and other fees, you have a real disaster.  So to alleviate the problem, let’s grant free tuition.

	A
	B

	
	


2.  I accept the housing and food problem faced by two year college students.  But helping them get support and budgeting information is the way to go including budgeting for their educational costs.  A free tuition gives them a false sense of entitlement. So let’s keep tuition within reason. 

	A
	B

	
	


3.  A comparison of tuition costs for California two year colleges with others nation wide reveal that the tuition in California is among the lowest.  To eliminate it all together would put an additional burden on the system’s budget. It is adequate and workable, so let’s keep it where it is 

	A
	B

	
	


4. Tuition costs need to be considered in connection with Grants, Scholarships and other financial support.  Taking all this into consideration tells us that tuition is within reasonable limits.

	A
	B

	
	


5.  I don’t know what to think about the benefits of free tuition.  Let’s see what works out where it is being tried.  So in the meantime, current rates seem reasonable for the time being.

	A
	B

	
	



6.  It is time to reevaluate the budget for the entire system.  Given its current lack of funding, we can improve the picture by raising California’s very in adequate and low tuition.  Further, with an increase in tuition, students will take their enrollment more seriously as an investment and we will see a better completion and success rate. 

	A
	B

	
	


7.  Free tuition is a noble and bold proposal.  Let’s follow other leaders like City College San Francisco 

	A
	B

	
	


PRIVATE 
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In this section, we will discuss the third criterion; a strong argument must have premises that are relevant to the conclusion

In addition to acceptable premises, and relevance to the issue, we have a third test; A strong argument must have premises relevant to the conclusion.

A strong argument must contain premises that provide reasons for, or are relevant to, the stated conclusion.  The reasons offered in support of a thesis must relate or bear upon the thesis.  There must be a way to connect these reasons as reasons for a specific conclusion. 

We will define relevance as the connection between two claims where the first statement has a bearing on the truth or falsity of the second claim.  This gives us the following possibilities:


1.
Favorably relevant


2.
Unfavorably relevant


3.
Irrelevant

In the first, the relevant statement counts for the truth of the other statement.  In the second, the relevant statement counts for the falsity of the other statement; and in the third, the statement is neither favorable nor unfavorable to the other (statements that even if true are neither favorable nor unfavorable to another).

Some examples may make this clearer.


It is very difficult to win the DCS after being down two games (the first claim).  The Arizona Diamondbacks will not win the Division Championship Series,   as they are two games down.
Here, the first claim is favorably relevant to the second. In example below, the first claim neither is favorable nor unfavorable to the second.  It is irrelevant.


The Cubs have drawn less than the Dodgers during the regular season.  The Dodgers will win the LCS

The idea of favorable relevance means that one statement supports the other while unfavorable relevance means the claim counts against the second.  As a criterion for evaluating arguments, this requirement insists that the reasons are favorably relevant to the conclusion.  This does not guarantee a complete proof.  It only says that if the premises are true, then they are evidence for the conclusion.

In Drill for More Oil we can see this principle at work.


The Energy Information Administration report estimated that 18 billion barrels could be recovered from the offshore areas currently off limits to drilling, equal to nearly 2 ½ years of U.S. consumption.  And it would be seven to 10 years before we begin to see sustained supply from the costal waters. 


So, Congress would be ill advised to remove the Obama restriction on California coastal oil drilling.  The impact on use of foreign oil would be negligible and we have more than adequate domestic supplies.   
The above meets the relevance test.  In general one could not disagree with this argument by asserting the following; (the case of unfavorably relevant)

A 2007 U.S. Energy Information Administration report estimated that 18 billion barrels could be recovered from the offshore areas currently off limits to drilling, equal to nearly 2 ½ years of U.S. consumption.  And it would be seven to 10 years before we begin to see sustained supply from the costal waters. 

So, Congress would be well advised to remove the Obama restriction on California coastal oil drilling. 
Let’s consider another recent argument put forward by the Republican.  In their effort to replace the ACA they argue replacement is necessary because of the rise in premiums.  

Adequately understood and verified, the rise in premiums could be a relevant reason to at least modify the act.  However this relevance drops out once the actual situation is explained.  About 90 percent of Americans are covered by some form of health insurance.  Most are covered by their employer where the increase has been low in the last few years.  Only a small percentage of this group buy insurance themselves.  Either through ACA market place but 85% of these individual receive a subsidy.  This leaves only 3% who are not eligible for subsidy and where the increase in premiums is a factor (about 3% of they uninsured who are not getting a subsidy).

I have worked on a device that I think might help apply both the third criteria and the final test—the adequacy test.  Here it is below called the Relevento Meter
The sum of the reasons in the argument. Assume the first test is passed.  If not, stop the evaluation there. 
Label this set as A  

B. The Content of the thesis:  Call it T1

C. Our doubt is about the truth of T1 and whether A counts favorably(criteria 3) and adequately (criteria 4) for the truth of T1. (Note: A having past the first criterion, we will accept it as given)
In order to answer the question in C we need to ask the following:

To what extent do we need to consider other reasons beside the content in A?  The range of answers is

Always               Never                   


The Principle :(For criteria 3) The extent we judge A to be favorably relevant will cause the arrow to move more to the “Never” side of the above scale.  The more we judge A to be irrelevant the more the arrow will to the Always side of the scale (i.e. always more reasons vs Never more reasons)
The Principle: (For criteria 4) The arrow should be roughly in the middle (satisfaction of criteria 3). The more we judge insufficiency the more the arrow should move to always.

Further Instructions:  This meter is to be used in connection with your neutral judgment about the argument.  So suspend any preconceived ideas about its strength as if you were a neutral party. The arrow moving to “Always” is an indication that the content of the reasons needs to be strengthened by additional reasons.  The more it points to the “Never” side the higher probability is that the content of the reasons in A meet the third and fourth tests. 

Note:  This meter does not evaluate the warrant.  A final analysis may require an examination of the competing warrants. 
Use of the above and replace the need to memorize and try to apply the list of traditional fallacies.  I have listed some below
TRADITIONAL LABELS

Poisoning the Well

Condemning a position because of the source of support for the position.  The opposite of Appeal to Authority; similar to Ad Hominem

Abusive Ad Hominem

An attack on the person, and not the view under discussion

Ridicule

The attempt to divert attention away from a weakness by ridiculing an opponent or injecting unnecessary humor.

Tu Quoque Argument

Meeting an attack or criticism by claiming the opponent is one too.

Authority

Supporting a conclusion simply because of it is supported by an authority where the "authority" bears no relevance to the conclusion.

Tradition

Support for a conclusion simply by an appeal to respect for a tradition 

False Dilemma

A forcing of two choices, when there is at least one more.

Genetic Fallacy

Drawing a conclusion simply because of the history or origin of something

Common Opinion

An attempt to support a conclusion simply because a large number of people support it

Playing to the Gallery

Support for a conclusion by appealing only to an audiences strong emotions or sentiments on an issue.  

Pity

Attempts to persuade to accept a conclusion by appeal to sympathy on the part of the audience

Personal Circumstances

Support for a conclusion simply by an appeal to personal or special circumstances of the audience

Force or Threat

At attempt to persuade by implied or explicit threat or intimidation

Ignorance

Asking one to accept a conclusion as true, simply because it has not been proven false.


or asking one to accept a conclusion as false, simply because it has not been proven true. 

Red Herring

Comes from drawing the hounds away from the hunt by attracting them with another scent.  Amounts to an attempt to divert attention away from a defect in your argument by introducing a side issue.

Trivial Objections

Attacking a minor or non central aspect of an opponent's view

Let’s use the relevento meter to test a traditional fallacy, the ad hominem.

Here is a passage for David Brooks, New York Times March 18

Trump is perhaps the most dishonest person to run for high office in our life time. . He is a childish man running for a job that requires maturity.  He is an insecure little boy whose desires were somehow arrested at age 12.  He surrounds himself with sycophants.  He brags incessantly about his alleged prowess, like how far he can hit a golf ball.

Possible theses drawn form the above

A.  So his proposal to build a will between the U.S. and Mexico is crazy

B.  He is a misogynist

C   He is a narcissist

D   He would be a disaster as President

Using the relevento meter where would the arrow point in each of the above?
ADEQUATE PREMISES

We come to the last of our four tests to determine whether an argument passes as a strong or defective free argument.  In this criterion, we raise the question of whether the reasons are sufficient to support the thesis.  This test is naturally the last test to perform, since if the other three have not lead us to criticize an argument as defective; we still need to ask are the reasons sufficient to support the thesis.  So as a procedure matter, this test assumes that the other three have been applied and the argument has passed up to that point.  If an argument has defective language, does not directly address the issue, or has reasons that are not favorably relevant, then it is probably unnecessary to ask if the reasons are sufficient.

Certain theses require a high level of sufficiency if the thesis is to be adequately supported.  Remembering an earlier notion of quantification, obviously if the thesis claim is universal (All, Every, None, etc) a few cited instances are liable to have a sufficiency problem.  For this reasons, in most practical arguments, we see other quantifies, such as “most”, “frequently”, “many” “lots of”, “numerous” etc.  These would be these statements where the sufficiency test is appropriate, and the sufficiency test would tell us whether we judge the case to be “too few examples”.

The relevento meter works here.  If the thesis has a high level of quantification (“Always”) then the arrow should point to “Never” if it is to pass.  

Here is a passage from the April 2017 edition of the Sonoma County Gazette that carefully avoids the need to supply reasons to support and strong thesis.  
In 2015, the International Agency for Research on Cancer (IARC) determined that glyphosate (the chemical in RoundUp) is a probable human carcinogen.  The Environmental Protection Agency (EPA) has thus far not affirmed this finding, which has resulted the continuation of the status quo.  However, recent revelations put into question the EPA’s credibility.  Previously unsealed court documents from an ongoing cancer lawsuit against Monsanto contain e-mails which show unsettling actions and relationships between Monsanto, EPA regulators, and academics responsible for glyphosate’s safety research and regulations. 
In the end, I was convinced that if low-dose exposure to glyphosate might cause birth defects, liver and kidney disease, endocrine system disorders, microbiome disruptions, and non-Hodgkin’s lymphoma, I didn’t want it sprayed at my park


Notice the author, Megan Kaun, is careful not to claim that glyphosate is the cause of the listed disorders and does not spell out what is specifically meant by “unsettling actions.”  Rather the causal possibility is embedded in an “if clause” and the thesis is shifted from a causal claim, to a desire not to have it in the park. Applying the relevento meter to the causal claim would show the arrow pointing to the “always” side.

A special case of the “too few cases” charge is when important information is excluded. In the area of frivolous law suits (a charge often made without full information) there was a recent San Francisco case thought to illustrate the problem of frivolous law suits. It involved a cab driver who was sued by a man he captured by pinning this man against a wall with is cab.  The man was being pursued because he had been seen snatching a purse.  The man was injured (two broken legs plus other injuries) He sued the cab driver for $15,000.  What was missing in most accounts was the fact that the suit was brought be the doctors and a hospital’s emergency room where the injured man had been treated.  The suit was brought against the cab company’s insurance company although in the name of the cab driver.  The purpose was to cover the costs of treatment for the injured man.  It turns out that it was not a frivolous law suit at all. 

Causal Reasoning and Mill’s Method

When we conclude that there is a causal relation between the conditions or events, we have various linguistic expressions to state this thesis.  Look for language such as C produces H, C is responsible for H, H was brought about by C,  C leads to H, C creates H.
John Stuart Mill a nineteenth century philosopher and logician proposed criteria to determine whether there a causal relation exists.  It attempts to establish some similar or shared conditions in the circumstances thought to be the cause.

Mill’s method of agreement:

 If two or more instances of a phenomenon have only one circumstance in common, that circumstances is probably the cause of the phenomenon 

In a straight forward case, suppose the phenomenon is a case of food poisoning at a family picnic.  Some ate the hot dogs, some did not.  Some had the chicken, some did not.  All, however, ate the potato salad.  The method agreement points to the potato salad as the cause.

Mill’s Method of difference:

If an instance when the phenomenon occurs and an instance when it does not have every circumstance in common except one and that circumstance occurs in the first case, that circumstance is probably the cause

To change our picnic example, all ate the hot dogs and all ate the potato salad except one (who did eat the hot dog).  All got sick except the one who did not eat the potato salad..  The potato salad is the likely suspect.  

In a complete case, the two methods come together in the third of Mill’s Methods:  The joint method of agreement and difference.

This method has several limitations.  We still, do not know, for example, what it is about the potato salad that is the causal mechanism for the illness.  Is it the potatoes, the celery, the onions, etc?  (What is the likely answer here?)

To see how the last of our two criteria might work,  or where the relevento meter arrow points to the “always” side.  I want to look at an article by David Brooks, “Social Science Palooza II.  It is the report of social science research in which the original researchers argue for certain causal explanations of familiar occurrences. But in addition to the report, Books puts forward his support of the findings, so lets treat this as a particular set of arguments.  I’ll reproduce various part of the article for examination:

 For example, Tobias J. Moskowitz and L. Jon Wertheim wrote a fantastic book excerpt in Sports Illustrated explaining home-field advantage. Home teams win more than visiting teams in just about every sport, and the advantage is astoundingly stable over time. So what explains the phenomenon? 

It’s not because players perform better when their own fans are cheering them on. In basketball, free-throw percentages are the same home and away. In baseball, a pitcher’s strike-to-ball ratio is the same home and away. 

Neither is it the rigors of travel disadvantaging the away team. Teams from the same metro area lose at the same rate as teams from across the country when playing in their rival’s stadium. 

Notice first this is an account of every sport, so let’s apply the sufficiency criterion.  What sports are referenced in this beginning account?  Only two, so while the original research may reference more than two, we only get two in Brooks reconstruction.  The sufficiency test does not seem to be met at this point, i.e. the thesis is about Home teams, not just the two mentioned by Brooks.
What about his rejection of the travel requirement as an explanation for the home team?  We don’t see which sports are in the account, but the rate of loss is about the same for certain teams that play each other close by (same metro area) in comparison with teams that travel great distances.  But which sports may make a difference.  In baseball a certain team may be away for an extended period and during that period play games on many days in a row.  This is not the case for football and I am not sure about either hockey or basket ball.  So it might be important to examine each sport individually.  Again the sufficiency criterion seems to raise this problem.

Notice the claim that it is not because players perform better.  But notice only two measures of performance are cited, free throws and strike to ball ratio.  But what about other performance indicators even these two sports, batting averages, percent of 3 point shots, etc?

So what is the positive explanation for this difference?  Here is with Brooks reports

No, the real difference is the officiating. The refs and umpires don’t like to get booed. So even if they are not aware of it, they call fewer fouls on home teams in crucial situations. They call more strikes on away batters in tight games in the late innings. 

Well this may be a factor, but applying Mill’s method how could we isolate this possibility?  In baseball you could examine inter league play in markets where the teams are from the same metro area, e.g. the Yankees and the Mets, the Dodgers and the Angels, the Giants and the A’s.  In these games there is usually an equal number of fans for both teams.  One would then see of the causal thesis stood up. 
Let’s try as a class exercise using Mill’s method to see if this explanation holds.

Here is the other problem.  If this is occurring it is a happening at a level that officiators are unaware of this behavior, so it would be difficult to confirm.  

Also note that Books does not dismiss other factors that might explain this phenomenon.  In baseball, for example, there are playing field factors that are more familiar to the home team than the visiting team.  Also it is believed that ground crews will groom the field to the advantage of the home team (infield grass, mound position etc.)

As Gordon Dobbins from Fort Worth notes:

Mr. Brooks makes no reference to factors that favor home teams in various sports. These include face-off rules (ice hockey); last at-bats (baseball); being intimately familiar with the eccentricities of a baseball field or the rebounding experienced in a hockey rink; having the evenings/nights with one's family; the psychology of having the crowd on one's side; and other useful advantages.

We also see causal argument in the areas of epidemiology, accident investigation, medicine, and social policy..  A recent study on the dangers of high cholesterol is a good example.  It has been long held the low density cholesterol (LDL) is causally related to heart disease.  The causal mechanism is LDL transporting fat to the vascular wall causing the build up of plaque.  The presence of plaque causes malfunctioning of the heart and ultimately heart disease.  On the other hand so call good cholesterol, or high density cholesterol (HDL) is said to cause the opposite, namely it transports fat from the vascular wall to the liver where it is dispersed. 

All this was generally held to be the cause and effect relationship in the case of cholesterol.  On March 15, 2004 a study was published disputing this commonly held belief.  There was evidence of heart disease in patients with high levels of HDL and relatively low levels of LDL.  So there was some dispute about the general cause and effect relation in this area of human health.

So to solve this dispute, the sufficiency or adequacy criterion requires a number of steps:

· Replication of specific cholesterol study by other researchers in other populations.

· Double Blind studies, especially in areas of medication and drug studies.

· Representative samples studied over a period of time.

TRADITIONAL LABELS
(Again, the relevento meter can be used to achieve the same results as the following labels.)
Hasty Generalization


Drawing a conclusion from limited, unrepresentative, or especially selected data

Domino Fallacy also The slippery slope


 Assuming one thing will lead to another and there is no stopping the process to a disastrous end

Neglect of Relevant Evidence


Drawing a conclusion without considering the obvious and relevant counter argument

Post Hoc


Concluding that because something occurred prior to an event, that it is the cause

Causal Oversimplification


Regarding a contributing cause as the efficient and proximate cause 

Cause with effect confusion  


Failure to recognize reciprocal causes and confusing effect and cause

Common Cause neglect 


Thinking that simply because two events are related, they are cause and effect

Necessary condition confused with sufficient


Assuming that a necessary condition is also a sufficient condition

� Logic and Contemporary Rhetoric, Howard Kahane, Wadsworth Publishing, 1998





� Real Life: After Congress failed to repeal and replace the Affordable Care Act, the President by Executive Order chips away at the provisions by cutting parts of t he laws budget; another example of bad faiths. 





� These criteria are modifications of ones proposed by Trudy Govier, A Practical Study of Argument.  I have use her word  “remises” with the understanding that we need to read “reason” for “premise.”


�. It is useful to remember  what  are “homonyms”, words that sound the same, spelled the same, but have different meanings (and sometimes related).  These are not homographs, words spelled the same, but pronounced differently e.g., "invalid" and "invalid"; nor homophones, words pronounced the same but spelled differently, e.g. "vane, " "vain," and "vein."  There are several homonyms that are antonyms.


� See the Press Democrat February 9 Second headline: “Some students say proposed $270 tuition hike to much with housing.”








� George Will, Press Democrat August 29, 2011


�. H.P. Grice developed this idea.  "Logic and Conversation” in The Logic of Grammar. Dickenson 1975







